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@) [2(x-3)-3]=0 4 2@%) (x-3)-32-x) =04 22 x) :-3=3 20

H:[2-x}(x—3)=2x-i3—x:+3x=-x"+5x—6@.
H=0 ot -+ 55-6=0 oo 5x-3-x'-3=0 3 (5x-3)-(C+3)=0§
35 n O it

i 5(\*-:7’.):3&6&";2:-%-"; x=-—l-33—=4@=e IX=2x6 @H%=%—‘l@.
L = ; E
A== G Sx=8 Ju Sx+10~18 1 :
5 - oy A b @tk 10
besh et L =t 2 Q)
CLU I A I A ¢ 4 x @
i 30 5
b T N e e R 3 Y
B G

M €(ADH), H ¢ (ABE), Fe (ABE)
G (DM) < (AEH), (AG)¢(BDH), (AM)< (DHE) §

Ei
& M

(AGM) N (EFH) = (GM) | (AFM) N (EDH) = (AM)| (ADB) N (DHG) :(DC)@
(ADE) N (DCG)= (DH) | (CM) N (AB)= & (BD) N (AM)=#
(BM) N (ADH) = {M} (AG) N (EFH) = {G}

el (EFC) 5 (ABH) & sl s 3 Ll (DM) 5 (AB)

(ACG) // (DH) o3 (ACG) b s sine (AE) 5 (AE)/ (DH) 3 os

2| @ ] e @@
!—85 3 6 AECT




